R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DBNC - Drawings\TX-4652.55.dwg, TX-4652

POWERED BYlﬁ

ENDURA.

DOOR COMPONENTS MADE IN THE USA

Opaque Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Steel Door system described herein complies with the 2018 international
Residential Code (IRC}, Sections R301 & R409 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the
following conditions: ~

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond walt dressing or stucco.

2. When used in areas requiring wind-borne debiris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4, Conditions not covered by this drawing are subject to further engineering
analysis. ' ’ ‘

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Door panel details
Stidelte panel details {lip lite insert glazing)
Horizontal cross sections
Vertical cross sections
Vertical cross sections
Frame anchoring

Nl i WIN

112.25" MAX. OVERALL

FRAME WIDTH

82" MAX. OVERALL
FRAME HEIGHT {INSWING)

81.125" MAX. OVERALL
FRAME HEIGHT (OUTSWING)

X

O]

=
i

%
1

1

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS | PART OR ASSEMBLY:

BY

UPDATE TO 2018 IBC/IRC CODE

10/28/19|ADD "FusionFrame” OPTION &

1

REVISIONS

(0) (o]

PINE

+50.0

-70.0

p
<
a
o
Z
6

oate: 11,/08/1

SCALE:  N.T.S.

(0) (o]

"FusionFrame"

+50.0

-65.0

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4652

sHEET 1 oF 7/




ud
SxrEimd R .S
STILE (LVL) ) STILE (LVL) En2ail :f...ﬁy;?e‘, 58, fao
INTERIOR 2.91 S Sl [ WEE 8 88
L iOiew 20| S|y 68 &7
505 iie ool Tle® = 45 o -
TOP RAIL Bt VLS AN gé £gs 3+
= . 2 - 5 : iy z
X (WOOD) Oz, i0iT SASSMS |ER g &8
- \ ﬂ 6"};;6’“"'-.::5 : W«;{;&ﬁ‘)\ > —al K "’95 g%‘
N & Oy gg
EXTERIOR 081" 3 287 b
n o E__ L. 3 X o
081 LOCK BLOCK 2 § 3gf §§
WOOD: 12" LONG & S
/ 1"\ HORIZONTAL CROSS SECTION ! ’ : S i
2/ P 5
25 GA. STEEL 3
DOORSKIN || 8
35.75" DOOR \
WIDTH 9
==
Ly
(SYa
P g | o
R
o 2=
& |3l &%
INTERIOR EXTERIOR 7] e
.. < S«
10 _ 5 |g 8
< 0 [
\2/ 2l |2
0. 0.
[ —
X
2 &l
- [5%]
] )
Z : 8
S ° FOAMCORE | 2o
. : O
2 X © ™~ =
= 58l Ly
Ln -
N »[®] O
& E § 7
SEE HARDWARE ES &
TABLE Slo| &
3|
; x )
v ; S <
2
. N
. 28] F—
N <C
l E I N S
- (@)
BOTTOM RAIL | e 15
(WOOD COMP) " Z
.__ . oATE: 11/08/16
DOOR PANEL 175 SAE  N.TS.
Masonite
Steel (Wood Edge) owe. B:  JK
m VERTICAL CROSS SECTION chk. Bv:  LFS
cwiksgy | VATCH: KWIKSET SIGNATURE SERIES (991) 2/ T
DOOR SKIN: 25 GA. STEEL (0.020" MIN. THICKNESS) DEADBOLT: KWIKSET SIGNATURE SERIES (980/985) TX—4652
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) o 2 o 7

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DBN\C - Drawings\TX-4652.55.dwg, 2.3

@ 2016 R.W. BUILDING BONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DBAC - Drawings\TX-4652.55.dwg, 3.3

STILE (LVL)

-~ 1.75" —=

0.81"

35.75" MAX. PANEL

WIDTH
D
/
/!
10 /
\3/
o
O
LL!
e
o
z
<
Oo.
>
<
=
&
,/
Vi

. SIDELITE PANEL
Masonite

Steel (Wood Edge)

ALV WA T

o A AY

\]

EXTERIOR

STILE (LVL)

'/
[/4

//
[/

INTERIOR

/"1 "\ HORIZONTAL CROSS SECTION
3/

777771170 111111711 (0

il

ame—— e
v

#6X1-1/2
PPH SMS

INTERIOR

0.81"

—] GLASS BITE 1/2

—— 1/2" OVERALL GLASS THK.

TOP RAIL

\111

. .é:,o;,}z

waa Bk LT
OF T,
o~ ‘j gE ""‘

N
I“'

Eox
T

(WOOD) ~_|

25 GA. STEEL
SIDELITE SKIN

$ e e—

/— 1/8" TEMPERED GLASS

o AR SPACE

ST T -

\ 1/8" TEMPERED GLASS

EXTERIOR

21" MAX. o
D.L.O. WIDTH |
J
. O
&
o
T
o
TN
i 1
d {1}
9 #6 1-1/2" PPH SMS
o (TYP.)
>
<
=
3

SIDELITE SKIN: 25 GA. STEEL {0.020" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

(TYP)
ODL LITE FRAME

pL

Q'SO SEALANT
LOW TACK SEALANT

GLAZING DETAIL

L— 0.57"

R

toal

. ODL LITE FRAME
HP Polypropylene

{«—1 75" ~>1

STEEL SPACER

INTERIOR

A\

W
EXTERIOR

¥
4

4 _— "\
‘!-gglmgp RO\

FOAM CORE

\"3

0.81"

BOTTOM RAIL
(WOOD COMP.)

«~—1.71"»J

/ 2"\ VERTICAL CROSS SECTION

N

uj
aq
o 0
°
£o 0w 9
o = g 2] ul
$ LBz
fu ¢RB &y
‘= o bk
b o
=g g’“‘la ir
[ o . ZFz
gk T8 00
ke dge nkE
D5k 0
n - {f
Z 0w o
3 o9n . ¥
& O3 quw
9 o
o ng uw
e Zmo oL
g 25 2.
® 50¢ 5;‘;’
& o oo 06
m=
o L
£ L§ E
c
g ]
£ 6
3
4]
[+
o
)
2=
TN
—
T
Qo
.}
S . DE
s |3 58
T
Ll g,
175 L)
1%} S!:
- < l."j'd
@ o
5 ]
3 ol o2
o &
x <
0. o
o -
L o
w
o
)
KO
O
8l&
Elo
Sid| n
A z
0% O
Sl 2
Ll |2
SlF| &
S|
Ll
ol
o
als
<
(o))
AN
of |
Q <
S |8
| o
z
oate: 11,/08/16
scale: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4652

SHEET 3 oF 7

© 2016 R.W. BUILDING CONSULTANTS ING.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-850 Masonite ST Opaque (LK, DB)\C - Drawings\TX-4652.55.dwg, 4.3

AN 5N "Fusionframe”
MULLION
N \S NS/ \
O @ ) INTERIOR
] )
#8 X 2-1/2" FH COURSE O] (]| ENDURA WEATHERSTRIP
THREAD DRYWALL SCREW (QEBD/PE 650)
/ (SEE NOTE 1) ENDURA WEATHERSTRIP
/// DOOR PANEL (QEBD/PE 650)
//

\\

O
A\ Y

A\

.

A

CORNER PADS
(TYP.)

435"
72

5,
~—1.5" =]

T

)

2.5

FATBOY MULLION

PINE

NOTES:

1. Spacing for sidelite screws: 6.5, 38.5" and 69" from head to sill (3 fotal).
2. Spacing for mullion screws: &" from each end plus 3 more equally spaced (5 total).

=
NOZRNOAY

—4——].5" pR——

WOOD

COMPOSITE

N

4.375"

(0000
0000

2.5
MULLION

"Fusionframe”

#8 X 1" PFH SMS
#8 X 2-1/2" PFH WOOD SCREW

#8 X 3/4" PFH SMS 4" HINGE

3"\ HORIZONTAL CROSS SECTION
\\4j Outswing shown - Inswing also approved

: /
4 SIDELITE PANEL

4-3/8" FATBOY

EXTERIOR

BACK-TO-BACK JAMBS:
"FusionFrame" {1 OR 2-PIECE)

"
=
LYNDON &

AL LT T

N

DOOR PANEL

#8

STRIKE PLATE

#10 X 2-1/2" PFH
WOOD SCREW
(SEENOTE 2)

SIDELITE PANEL

A\

N

LaTcH WOOD SCREW

' #10 X 3" PFH
X2-1/2"PFH  woOD SCREW
(SEENOTE 1)

/4 "\ HORIZONTAL CROSS SECTION

\U Outswing shown - Inswing also approved

4-3/8" FATBOY

PINE MULLION PINE MULLION
r R \
\ —————-—lNTERIO #8 X 2-1/2" FH COURSE
#8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREAD DRYWALL SCREW
THREAD DRYWALL SCREW (QEBD/PE 450} (SEENOTE 1)
(SEE NOTE 1) . DOOR PANEL ENDl(J;QBVgﬁfg r;goR)STRIP - 4 / SIDELITE PANEL
K SIS
/ \ N P AI \\ hd.@//ﬂhﬁé -
g Niisss SN\ 3 i ~
u_,!‘.;/; K \ /\ /‘/
A
/ J
SIDELITE PANEL -1 /9"
#8X 1" PFH SMS #8 X 2-1/2" PFH WOOD SCREW
#8 X 2-1/2" PFH WOOD SCREW DOOR PANEL LATCH
STRIKE PLATE

#8 X 3/4" PFH SMS A" HINGE EXTERIOR

/ 1"\ HORIZONTAL CROSS SECTION
\U Outswing shown - Inswing also approved

/2" HORIZONTAL CROSS SECTION

W Outswing shown - Inswing also approved

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F--11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

o
S 2
o e
< 9 =5
o U»f.. Z(ij
D VA CHn
< Ol= ®»
Wl o9
[ewt §4) (o]
| 73] ID:
N (&}
. i
5 14
8 e)
o) &
a <
o o
21 >
Y |

UPDATE TO 2018 IBC/IRC CODE

10/28/19|ADD "Fusionframe” OPTION &

1

REVISIONS

-
<
a
o
z
6

oATE: 11,/08/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4652

SHEET 4 oF 7

© 2016 R.W. BUILDING CONSULTANTS INGC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK, DB)\C - Drawings\TX-4652.55.dwg, 5.3

2% FRAMING 2X FRAMING 2X FRAMING
. (G >=0.42) {G>=0.42) G >iO.42) -
~—— ; [ — { \\
l’ \\ / £ \
/] 2t - Wi EXT. SHEATHING b1 |4 T
EXT. SHEATHING plTl 1 L ORYWALL - {TN EXT. SHEATHING ; AN
\ LA o DRYWALL \ ; / \ { ’ .| DRYWALL
alt | #10x2-1/2 PRH w UM #10X 2172 PFH
emax. [ ] WOODSCREW i |3 WOOD SCREW |
SHIM SPACE _ [[l4/ - 1/4" MAX. o T ™ "
N o SHIM SPACE ™| Wik ™ #10X 3" PFH
bZ g YT A WOOD SCREW
SHE = 1/4" MAX.
SHIM SPACE T il {\‘_‘E"]
DOOR PANEL \\ ? SIDELITE PANEL ~_ \ f DOOR PANEL
\ HEAD: PINE \ HEAD: "FusionFrame" (1-PIECE)
| #BX 2172’ FH COURSE HEAD: FINE ENDURA WEATHERSTRIP
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW (QEBD/PE 650)
(QEBD/PE 650) (SEENOTE 1)
EXTERIOR W NTERIOR INTERIOR " EXTERIOR EXTERIOR W INTERIOR
NOTE;

/1" VERTICAL CROSS SECTION
\y Outswing shown - inswing also approved

2"\ VERTICAL CROSS SECTION
w Inswing shown - Outswing also approved

1/4" MAX.
SHIM SPACE
#10 X 2-1/2" PFH WOOD SCREW
0.75" 0'75n ! I,a 0.75ll JAMB: PINE
] 3 ' \
COMPOSITE
SNAP-ON #8 X 2-1/2" FH COURSE \
CAP THREAD DRYWALL SCREW
N\ (SEENOTE 1} «

<t \

\ 2X FRAMING
/ (G >=0.42)

vt

EERHEE

| 12w e

1.25" L— ——

1.25"
JAMB / HEAD JAMB / HEAD JAMB
PINE "FusionfFrame" "Fusionframe"
{1-PIECE) {2-PIECE)

SIDELITE PANEL EXT. SHEATHING

/4 "\ HORIZONTAL CROSS SECTION
W Outswing shown - Inswing also approved

/ DRYWALL JAMB: "FusionFrame"
1 OR 2-PIECE
SOt Eue / INTERIOR ‘ G ’

EXTERIOR

7“3 \ VERTICAL CROSS SECTION I

W Outswing shown - inswing also approved

1/4' MAX. #10 X 2-1/2" PFH
SHIMSPACE  WOOD SCREW

.

#8 X 2-1/2" FH COURSE

THREAD DRYWALL SCREW
(SEE NOTE 1)
2X FRAMING
(G >=0.42)

o
/ . S ———— T - T—. -

SIDELITE PANEL
EXT. SHEATHING

m HORIZONTAL CROSS SECTION
\5/ Outswing shown - Inswing also approved

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Vairico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

Spacing for sidelite screws:
&' from each end (2 total).

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:

UPDATE TO 2018 IBC/IRC CODE

10/28/19|ADD "FusionFrame” OPTION &

1

REVISIONS

e
<
S
o
4
6

DATE: 11,/08/1

SCALE:  N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
TX—4652

SHEET 5 oF 7

© 2016 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of ins\TDi - DR-850 Masonite ST Opaque (LK, DBN\C - Drawings\TX-4652.55.dwg, 6.3

ALY
- ~ N ENDURA WEATHERSTRIP Sk uj
ENDURA ENDURA Sorinf &y o]
DOOR DOOR SWEEP EX’@\ DOOR SWEEP ,%‘%;.--' iSim g3 o
s i s 5 T -

PANEL | (DBKR) (DBK-ZAC) AN X 3 &
B Vi i3 vt 2ap B
(}\1\:_.‘ iZi c o =
= G xiZ 2 gge 2
) i @ 2o B
g Mgt §R® o
INTERIOR EXTERIOR INTERIOR g °%g e
3 % 85 6
NOTE: & 3g§ 8
#10X 2.5" PFH WOOD SCREW OR - Spacing forsidefite screws:  |&  BeE X
#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR 1/4'X 2-3/4" ELCO ORITW CONCRETESCREW g8 H i total), | 2 § B
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4 ELCO OR ITW CONCRETE SCREW N ~ 2 g
3 \ VERTICAL CROSS SECTION 5 @ &

0

(s}

/"1 "\ VERTICAL CROSS SECTION

/ 2"\ VERTICAL CROSS SECTION

w Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
(SEE NOTE 1)

INTERIOR

)
EXTERIOR

#10X2.5" PFH’WOOD SCREW OR
1/4" X 2-3/4" ELCO OR {TW CONCRETE SCREW

/ 4"\ VERTICAL CROSS SECTION
w Inswing configuration

P 456" |
T INSWING ADJUSTABLE THRESHOLD 2} INSWING ADJUSTABLE THRESHOLD
ZAIL4565 ZAI4585FN
b 456" |
2} INSWING ARTICULATING THRESHOLD 2\ INSWING ARTICULATING THRESHOLD

ZIAC4565FN

ZACL4565

i
<
bl 456" |
@ OUTSWING THRESHOLD 12 OUTSWING THRESHOLD
ZOBL4565 ZOBA4565FN

W Inswing Articulating Threshold

DRYWALL SCREW

(SEE NOTE 1)

w QOutswing Bump Threshold

SIDELITE 7 -
PANEL \
77

Z70) (1N

\

EXTERIOR

#10 X 2.5" PFH WOOD SCREW OR

INSWING ARTICULATING THRESHOLD 9

INSWING ARTICULATING THRESHOLD

1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW
/5 "\ VERTICAL CROSS SECTION
w Outswing configuration
I } 456" |
3 ) INSWING ADJUSTABLE THRESHOLD 4 ) INSWING ADJUSTABLE THRESHOLD 5 )} INSWING ADJUSTABLE THRESHOLD
TAILAA4565 TAIAA4565FN TAI4565RDS
| 456" | } 456" |

IACLAA4565

IACAA4565FN LAC4565RDS

10 INSWING ARTICULATING THRESHOLD

| MAX. DESIGN PRESSURE = +45 PSF |

| 456"
13 QUISWING THRESHOLD

ZOB4565RDS

] MAX. DESIGN PRESSURE = 55 PSF ]

CERTIFICATE OF REGISTRATION # F—11852

VERTICAL
CROSS SECTIONS

ENDURA
FIBERGLASS DOOR

PRODUCT:

LFS | PART OR ASSEMBLY:

BY

UPDATE TO 2018 IBC/IRC CODE

10/28/191ADD "FusionFrame” OPTION &

1

REVISIONS

i
<
a
o
pa
6

DATE: 11/08/'1

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4652

SHEET 6 oF 7

© 2016 R.W. BUILDING CONSULTANTS ING.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DB\C - Drawings\TX-4652.55.dwg, 7.3

ST Py, 4y
s o HEAD ANCHORS: Sorligi ol X
O8% 2X FRAMING #10 X 2-1/2" WOOD SCREW (PINE JAMB) AR IS 90, £3 @
¥y (BY OTHERS) " R WIS E oY Ex 9 | up
oo , ¢ #10 X 3" WOOD SCREW (1-PIECE JAMB) Y iZi 99l w|Ex g ug
$O8& N AN SO JAMB ANCHORS: wi inid WY N8y ¢B &7
< 9 (TYP.) - 4" (TYP) & #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) of iwiy ;.-2 2 Wl 2 35 Gu
" (TYP (TYP) #10 X 3" WOOD SCREW (1-PIECE JAMB) usl iz \$EA N |, FE2
[=— 4'(TYP) o (O} & §3 B oo 3,
— —_— 5 i S -H ‘Q e Z28 o0
I T THT T P THT 1 1 ORI I 5% 538 g&
. ] ¥ n oS s 35 B3
| SEEHINGE N i S Zon 5b
T ivg DETAIL 1 *k o A3RELCLAY 5 88&° gg
i SEE DETAIL 1 : = Z o x2
in NI O o 1 z 2
N} ™~ oz o, e £me Of
< | ok g 3550
<t"\> o 8 ® 5Q¢ % B
| - D o [ N I 5
- ' B gg L. ] g o5
2 N ° Y ; X é%
s m % . - #8X2-1/2'PFHWS | §
'ﬁ} o LI o -
SEE HINGE - . o Llle<] <
DETAIL 2 - see stRice |- . #8 X 1" PFH Wséi, ot #8 X 3/4" PFH WS
— PLATE DETAIL w ey o
SEE DETAIL | i & " 4" X 4"HINGE =
] N S
124 * s | §
x ..
. B / \ tod HINGE DETAIL 1 s |32
\] %] =
L] ] IF\A/)II‘ )N | ? il §:§:
<| o=
.. LL
N . & (P SILL ANCHORS: ¥ | #BX2-1/2'PFHWS |3 5
#10 X 2-1/2" PFH WOOD SCREW LT 8 =
1/4" X 2-3/4' ELCO OR e Hl 9 & <
FLOOR SUBSTRATE MATERIAL FRAME ANCHORING TW CONCRETE SCREW STRIKE JAMB 48X 1" PEH WS 4:’ =~ .
HINGE JAMB CONCRETE (MIN. 3000 PS) OX0O e Hle— #EXS/MTPHHWS 2
WOOD (G >=0.42) "~ 4" X 4" HINGE "
*NOTE: These additional anchors required for D.P. > 40 PSF. DEADBOLT SECURITY \ 8
*% - . ] /O
. > STRIKE PLATE
NOTE: These addifional anchors required for D.P. > 50 PSF. #10 X 3" PFH WS —=] HINGE DETAIL 2 § §
JAMB NOTES: 3|8 %
THE PINE OR "FusionFrame” 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. #8 X 2-1/2" PFH WS —— y|o| 1O
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SiDE JAMBS ONLY. LATCH STRIKE g S g
INTEGRAL MULLION NOTES: L§ 2 &
THE FATBOY PINE MULLION, "FusionFrame" MULLION, OR THE "FusionFrame" BACK-TO-BACK STRIKE PLATE DETAIL ki b
JAMB (1-PIECE OR 2-PIECE} MAY ALL BE USED AS THE INTEGRAL MULLION. - g
CONCRETE ANCHOR NOTES: : : 8 5
. Concrete anchor locations at the comers may be adjusted to maintain the min. 410X 3" PEH WS o
edge distance to mortar joints. #10 X 2-1/2" PFH WS 4PLCS NEE
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to 48X 2:1/2 COURSE ( ) 8 |z
maintain the min. edge distance to mortar joints, additional concrete anchors \ I\ N
; " " g . THREAD e
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. -
DRYWALL SCREW N i | lo
3. Concrete anchor table: N d d R ole R z
............. SRSy (RO Ay _ D \ ~ \ .
NCHOR JANCHOR I~ ™~ ~ BB N N N DATE: 11/08/16
= = ele scale: N.T.S.
= DWG. BY: JK
'm 1 1] . H
TAPCON® | 1/4" 1-3/4" 1-1/ 4 DETAIL 1 DETAIL 1 DETAIL 1 o o LS
ELCO INTEGRAL MULLION ATTACHMENT INTEGRAL MULLION ATTACHMENT INTEGRAL MULLION ATTACHMENT TX—Z.L. 652
e 1/4" 1-3/4" 1" 4" PINE MULLION "FusionFrame" MULLION "FusionFrame" BACK-TO-BACK JAMBS
ULTRACON SHEET 7 oF 7

@ 2016 R.W. BUILDING DONBLLTANTS INC.



